= 2hs g A2?

I‘Ulﬂ.l
ol

I x=2

@x2+x—6:0 @ xX*>+x-2=0
@ x*-6x+3=0 @ x*4+2x-3=0

® x2-4x+3=0




@ 2x2-4x+1=0, x=
@ 2x?-6x-5=0, x=

® x2-2x-2=0,x=1

@x2+2x—11=0, x=—1"

® 2x2-5x+1=0, x=

H+

ot

+ V19

2
V3
1+

+

4




O x2+8x-a = 0 0] ST 74 ), ol A] 2

0 of & ot

2 —16x+64=0
x-8?%=0

L x=8(FD)




- 3xm=00] AR T F 22 7Hd wf, m o] g
‘?:1%’4%—?8}1;57
9 9 9
®m<;1 ®m>;z @m<z
9 9
@m>4 @m_4

0°] A2 o9& F &= 7HA=4
=32-4m>0,4m<9




1=M?

flo

o5 & olArg Aol ofd A

@x2+3:x2—6x+9+4x @ 2x24+3x+1=0
® x(2x+1)=4x?-1 @ 3x2-x=0

® (x-1)(x-2)=x-5

O HAL ax? + bx+c =0 (a #0) & Eo|BZ
D x®+3=x-6x+9+4x
2x-6=0: 22T




O|APLAG A x2—5x+6 = 0 O] F & T &2 0] 2x% —ax+5a+4 =0

o] A i, a® 9] 27

® 9 213 @G @18 ©2

B ,

x2-5x+6=0

(x=3)(x-2)=0

x=3FE=x=2
x=27F2x*—ax+5a+4=0 9 Zo|BZ tfdstH
2(22)-2a+5a+4=0




7.

O|ZPT A 2x? —ax+20-4 =00 FFx=-25 71, a+b

of 27

|
—

@ 2 @)—2 ®1 @

® 4

B

FT 25 7HAER
(x+2)2 =0°]A
2 +4x+4=0
Fuiof 2 & E5tH
2x2 +8x+8=0
a=-8,b=6
Ta+b=-2




e

ul

L 44+0=4




9. OJAFFA (x-1)(x-5)=4F (x+a)?’=b ] ER2 1H W, a+b
o] 3& ool

> E.

> ®Me: 5

B ‘
(x-1)(x-5)=4

¥ —6x+5=4

(x-3)>-9+5=4

S (x=3)2=8

a=-3, b=28

L a+b=5




10.

521 o]-85to] o] AP A 9x% —6x—1 = 0 o] & FSHH?
-2+ 2 1+ 2+ V1
. + V2 @ x— + V3 ® - + V10
2 2\/_ 3
=2+242 @lei?) 2
3+,/32-9(-1) 3+£VI8 1++2
9 9 3




11.

3x2 +2x=5
3x2+2x-5=0

3(x-1) (x—f—g) =0




12. 24+ 6x+11—a =0 °] 5ho] 22 744 1, a o] ghe Ffelat
=

>
> =gt 2

od =

D/4=3%-(11-a)=0
La=2




ol
1m0

,.mo
1l

,.mo
ol

=35

n(n—3)

n?-3n-70=0

10(-- n > 0)




o' $& x2tal st

x+ x> =30
P+x-30=0
x=-6E=x=5

S 36+ 25 =61




15.
e
=

>
|> xCh -

oH .

-6

~&B

O|ZF YA A 2x% + 6x—a =0 9

ret
rl

x =3 = F017 Ao thdstH
18+18-a=0

soa= 36

2x2 4+ 6x—36 =0, (2x + 12)(x - 3)
(x+6)(x=3)=0
x=-6F=x=3
E}EWEP—C& =2 39|t

=0

flo




16.

o2 o|2APF A ax? + bx+ ¢ = 0(a # 0) = F+= FAolth. @ ~

®o] S0zt Ao] up2 7] Bt ALY

ax® 4+ bx+c=0

24 Zx=-5
a a

x2+ax+®:—£+®
x+@)° =0
xr=@®+0®

b b b2 — dac
@ 4612 @ % @ 2a

b b2 — 4ac
@ 2 © 2a

ax’> +bx+c=0« FHS g & =Tt
2 2
el S () =V g dun
a a 2a a?
x2+éx+ b? — E i
a 4q? a 4a?
<x+b>2_b2 dac b [b7—dac
2a)  4a? 2a 4a2
b b2 — 4ac
=+ —
2a 2a
® o] AXxE St




Hip

29

o, &4 A+ Bl gL

=

Ai@o]
2

X =

@ -16 ® 16 @)20 ® 26

® -20

5lH x2-3x-2=0

& el

3+ V17

3+ V9438

" A+B=20




18. (x-y)(x-y-3)-18=0 ¢ o, x—y ] = T3tz (x> y)

> E.

> He 6

B

(x-y)(x-y-3)-18=0,
x—y=A 2 gs}1H
A(A-3)-18=0,
A2-3A-18=0,
(A-6)(A+3)=0,
A=6%EEA=-3°[t}h
x>yOlB& x—y=6°|tt




D x2-2x-4=0 @ 2x>-5x+3=0
@x2—4x+5:0 @ x2-4x+4=0

® 3x2-10x+5=0

B
WA D < 0 o] o A]9] 17} {ick.
®§:1+4:5>0
@D=25-24=1>0
@%:4—5=—1<0

D
@4 0

D
@2225—15:10>0




olH EAE 24 50m 2 Aot & A 9] r £ 59| Fo|7} (50t—
5:2)m o]t} 01 Eiﬂﬂ' 480 & =o] 105m 7} HE AL 2ol &

[

50t — 512 = 105 |22

512 — 50t + 105 = 0

2-10t+21=0

(t-3)(t=-7)=0

webA ¢ =3, 70|tk

AR 105m 7} B 21 Robed 7] 3 % Foluk,




21.

E=017F10m 1 A& oA Fotz goj=d 5ol r =

hmet & ®, h = (10 + 30t — 5%) ©|t}. Fo] ThA] A&

ol A= AlRke Fakeiet,

9

ec|
=

=2 ol

=o
o17]

fF

10 + 30t — 52 = 10

2-6t=0

t(t—6)=0

“t=6(t>0)

w2hbA o] A AEof olAl=t 62 AUt




2] &0l 712 18m , AR 9m 9 ZerS 71211 Qith. o] &uhs
722 AT doutF Fol1, Nz2a &9l do|wd 579y,
g ZrEot 18m? AF ZI% = U5 Zetre] 7tz o] Zoje}
ANz o] do]e] §hg Ftotofa}.

> E

[> ®E: 2T m

=}

(18—x)(9+ )=18><9+18

¥ -9x+18=(x-6)(x-3)=0

x=6%E x=3 o]t}

kA (72 2] Ao))+(M29] Zol)= 12+ 15 = 27 (m) ©|t}.




23.

7}=20] Zol7t 20m , A2 2] ZAo]7} 10m <

_--20m- _ _

ZIAHZE e eFo] dhte| ohy It ol & , | |
ol xm 2 ¥4 2L HEUHY Z& A9 10m

St slheto] Wolzl 144 m? 7} = Qict. o] Z 9 ' lx,l
5 otofet.

> cCF m

[> ™=k 9m

29 ZS5 ym gt 5lH E2E A Qe Yz BEO] Yol
7F22] o7t (20 — x) m , A= 2] Zo|7} (10 - x) m S Az}

o] wolo} gronz
(20 - x)(10 - x) = 144
x% = 30x+ 56 =0
(x—2)(x—28) =0
x=2(% 0<x<10)




24.

gt J7ES x 24l ofH,
x(x-6)=91°]B2
¥ —6x-91=0

(x+7)(x-13)=0
webA] x = 13 (x & 2H%) o]k,




25. thg 293 2 AAZY ABCD 8719 A

EZro Azt o 2 it R ALz
ABCD 9] Ho]7} 480cm? ¢ o, E¢2] 4

olg Fatolel,
B
> E: cm
> e 92cm
2 A2 @ e ol : 1 = 60 (em?)
2o HAZre] 2 Wo) ZolS x 2t sk 71 Wl
gx o|tt.

gxxx—GO x? =36, x =6 (cm)

E:E)x, E:gx—i—x:gx

3 3

wetA] Eae) 2ol (5r+ Sx) x2 = Lx = 02 (cm) oI,




